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for the candidates to read the
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Note: 1) All questions are compulsory.
1) Question No.

type. Question Nos. 2 to 6 are
Definite  Answer type to be

is Multiple Choice

answered 1 one sentence each.
Question Nos. 7 to 11 are Very
Short Answer type to be answered
in about 50 words each. Question
Nos. 12 to 14 are Short Answer
lype to be answered in about
150 words each and Question
Nos. 15 to 17 are Long Answer

type to be answered in about
300 words each.
i) Marks allotted to each question

are given against it
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options are given in every part of

the following question of which only one

is correct. Choose the correct option and

write it in your answer-book :

a)l

284794

¥

The author of the book The Cultural

Sociology’ 1s
i)  Gillin and Gillin

i) C. H. Cooley

iii) Majumdar and Madan

iv) Westermark. 1
In which vear was ‘Untouchability
Prevention Act' passed ?
1) 1961

i) 1956

iif) 1955

iv) 1950.
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c}

d)
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Meaning of OBC is
i)  Other Backward Classes
ii)  All Backward Castes
iii) Open Backward Castes
iv) none of these. 1

When was ‘National Population

Policy' formed in India ?

1) 1976

i) 1978

i) 1980

) 1985, 1

Who wrote the book 'Caste in

India’ ?

i) J. H. Hutton
ii) Herbert Risley
i) 1. P. Desai

v} B.R. Ambedkar, 1
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4. Write the names of

st % e I e

3. Write four causes of poverty. 4 = ¢
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) Write the population of women in India

according to Census, 2011. 1
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3. Who is the writer of the hook 'Caste,
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6. What do you mean by credit

~]

cooperative ? 1
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[ Very Short Answer Type Questions ]
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Explain the major causes of lower status

of women in India. 2
OEIeHT MYl EE T OITATY U

~ ~ - .
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Discuss the importance of Mahatma

Gandhi National Rural Employment

Guarantee Act. 5
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Elucidate the Panchayati Ra) system 1n

' 2

India.
(0. WHIST el A e I 2
10, Define social welfare. 2
2
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Explain the problems  of Scheduled

]

Tribes.
[ g W9 |

[ Short Answer Type Questions ]
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he effects of urbanization on

12. Explain

Indian social life. ,

[ Turn over
284794

363(TH) 10
13. foean & gonmat 1 Foi St | 4

13. Describe the ill-effects of poverty. 4

14, 9RA H ST F ygE HROT O fEEeEr

s
k15T | 4
14. Discuss the major causes of
unemployment in India, 4
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[ Long Answer Type Questions ]
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16.
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e
Explain the major problems of sch

duled
6

castes 111 India.

OR

Discuss the role of wolnen

1t of

6

entrepreneurship in the developmet

India.
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16. Explain the importance of Panchayat
Raj in rural community. 6

OR
Discuss the contribution of cooperative
societies in rural reconstruction. 6
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17. WG @A W SEMIRROT F WHEl
W‘iﬁnl| 6
araat

I | 6

17. Evaluate the effects of industrialization
on Indian society. 6
OR
Elxplain the importance of social forestry
in India. 6
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